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Guess Paper – 2010

Subject – Chemistry

Class – XII

1. Why is Ferric chloride preferred over Potassium chloride to stop bleeding ?


[1]

2. Write the IUPAC name of Hg[Co(SCN)4].






            [1]

3. Write the IUPAC name of (CH3)2CHCH2CHOHCH(CH3)CH2OH.




[1]

4. What happens when the vapours of Methanol are passed over Silver catalyst at 573 K ?
[1]

5. Write the Hofmann bromamide degradation reaction.





[1]

6. Write the reaction of D-Glucose with HI.







[1]

7. How is Nylon-6,6 formed ? Write the equation.






[1]

8.Write the composition of Dettol.








[1]

9. i). What is the total number of atoms per unit cell in a Face centred cubic(fcc) structure ?
[2]

    ii). What happens when a ferromagnetic substance is subjected to high temperature ?

10. Iron occurs as BCC structure.If effective radius of Iron atom is124 pm,Calculate the density of Iron.  

      Atomic weight of iron is 56 g mol-1     







[2]
11. The rate constant for a first order reaction is 60 sec-1.How much time will it take to reduce the
      initial concentration of the reactant to its 1/16th value ? (Given log 16 = 1.2041 )

[2]
12. What is Dry cell ? Discuss its working.







[2]

13. Explain giving reasons :









[2]

      i) Transition metals and many of their compounds show paramagnetic behaviour.

     ii) The enthalpies of atomization of  Transition metals are high.

14. [Fe(CN)6]4-  and [Fe(H2O)6]2+ are of different colours in dilute solutions.Why ?


[2]

15. Complete the following reactions :







[2]

      i) C2H5OH + NaOH + I2 ---(
     ii) C6H5Cl + Na ---(ether)---(
16. Although Chlorine is an electron withdrawing group,yet it is ortho & para directing in Electrophilic  

      aromatic substitution.Why ? 








[2]   

17.  i)What are Biodegradable Polymers ? Give one example.




 [2]

      ii) What is PTFE ? Write its popular name.

18. What are Artificial sweeteners ? What are their advantages ? Give one example.

[2]

19 Resistance of a conductivity cell filled with 0.1 mol L-1 KCl solution is100 Ω.  If  the resistance of the  

     same cell when filled with 0.02 mol L-1 KCl solution is520Ω,  calculate Conductivity and Molar 
    conductivity  of 0.02 mol L-1 KCl solution.The conductivity of   0.1 mol L-1 KCl solution is 1.29 S/m. 
[3] 
20. A first order reaction has a rate constant 1.15 x 10-3s-1.How long will 5 g of this reactant take to 

       reduce to 3 g ? (Given log 5=0.6990, log 3=0.4771 ) 





[3]

21. What is the difference between Physisorption and Chemisorption ?



 [3]

OR

      Explain the following terms :i) Electrophoresis ii) Dialysis  iii) Tyndall effect

22. Answer any three of the following :







[3]

      i) Why is Copper matte put in Silica lined converter ?

     ii) What is the role of Graphite rod in the electrometallurgy of Aluminium ?

    iii) Name two ores each of  Iron and Copper.

    iv) What is Zone refining ? State its principle.

     v) What reactions are carried out in different regions of the Blast furnace in the extraction of Iron ?

23. i) Draw the structures of :
HOClO2,  XeOF4 & IF7






 [3]

     ii) How will you detect the presence of Nitrate ion in solution ?

24. i) Why is K2Cr2O7 generally preferred over Na2Cr2O7 in volumetric analysis ?   

[3]        
     ii) Describe the preparation of Potassium dichromate from Iron chromite ore.

25. i) Convert Hydroxy benzene to Aspirin.                                                                                      [3]

     ii) Write the reaction for the Nitration of Phenol.What is the basis for  the separation of the products 

          formed ?

26. Give the structures of A,B and C in the following reactions :




[3]

      
C6H5NO2 ---Fe/HCl---( A ---HNO2,273 K---( B ---C6H5OH---( C
OR

      Identify A,B and C in the following reactions :

CH3CH2Br---KCN ---( A ----LiAlH4---( B ----HNO2,00C ---( C
27. i) Why are Vitamins A and C essential for us ? Give their important sources.


[3]

     ii) How is  Glucose prepared from cane sugar in the laboratory ? Write the reaction as well.

28. i) The freezing point of Nitrobenzene is 278.8 K.When 2.5 g of unknown substance is dissolved in  

         100 g of Nitrobenzene,the freezing point of solution is found to be 276.8 K.If the freezing point 

         depression constant of Nitrobenzene is 8.0 K Kg mol-1,what is the molar mass of unknown 
         substance ?










3
     ii) Before giving intravenous injection,what care is generally taken and Why ? 


2
OR                                                                  
     i) 45 g of Ethylene glycol,C2H6O2 is mixed with 600 g of water.Calculate the freezing point 
        depression and the freezing point of the solution.(Given Kf for water = 1.86 K Kg mol-1 )
3
     ii) Miscible liquid pairs often show positive or negative deviation from Raoult’s law.What is the 
         reason for such deviations ? Give one example of each type of liquid pair. 


2
29. Account for the following:









[5]

i)Oxygen and Chlorine have similar electronegativity.Oxygen forms hydrogen bonding but Chlorine     

         does not.

     ii) N2 molecule is chemically inert while White Phosphorus is more reactive.

    iii) Noble gases have comparatively large atomic sizes.

    iv) Dioxygen is a gas but Sulphur is a solid.

.    v) PCl5 is more covalent than PCl3.

OR

   a)  Assign a reason for each of the following statements :

     
i) Ammonia is a stronger base than Phosphine.

    
ii) Sulphur in vapour state exhibits paramagnetic behaviour.

   
iii) Nitrogen exists in the diatomic state while Phosphorus exists in tetraatomic state.

   b) Write the reaction of Ammonia with Chlorine when i) Ammonia is in excess ii) Chlorine is in 
       excess

30. a) How would you account for the following :






[5]    

         i)  Aldehydes are more reactive than Ketones towards nucleophiles.

        ii)  Carboxylic acids are more acidic than Phenols.

b) Write short notes on :

  i) Hell Volhard Zelinsky reaction

        ii) Cannizzaro reaction

      c) Distinguish between Phenol and Benzoic acid by simple chemical tests.

OR

a) An organic compound (A) with molecular formula C8H16O2 was hydrolysed with dilute 

Sulphuric  acid to give a carboxylic acid (B) and an alcohol (C).Oxidation  of (C) with Chromic acid

Produced (B). (C) on dehydration gives But-1-ene.Write equations for the reactions involved.

b) Describe the following :

i) Aldol condensation

          ii) Wolff-Kishner reduction
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